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These. owre C GUARLONS OF +hQ Forr
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Constants aand o #0 -
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CoalRd o0 guoadratic QX pression -
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A quodrad’c expression Wit be o rMeXinue
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D Find tie Pt Vallwk of 5 - 25c - 4x
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| b o Mt Dr\x\g W& ooy pNS--t\V‘\%_-
| Exormpiles
l | _OFnd tre M\f\\MuM Vollwe of the |

X pression DC. +3x t4 and Stot e,

the Valua of X for WUk 1t occurs,
SOLnm .

=Sl 3N S PR N T +:Sac_+(3 )1+4

S L S— .

2.
= 32 7
(<*3)+ %

. The mMiATmuen Ve lwe of JCl‘fsJL-v“H
1S5 Yy oand it 0Ceurs WwheA € = “3/3.°

T ———
¥

@ Showl Hlat 3x" + 10X v+ 9 Connot
b Neaative hence deduce 11S Rast)

17~ daad

-, Vallu e - . B 2 — e s
. _S0ln
L":Jc + 10X+ 9 = 25(3:+10x_+3)
=, — 3(1 +lox_1(|o) (\0 3 3)_‘
s

= 3((x+ %)1 s 2@)

= = 3(x+5 ) + 2
S\(\C(___ (:)';.-f@a.) Co.n NOot1T be ﬂisogbvt,
+he_ @XPra.5SS0n 2 470 +9 Con NRVRS,

e r\e_so\-t\vl,
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Tihe (Rast Volwe_ Oof (x_+ 3} 'S Zec o
he NC e the (RSt Voulue of 3Ix 4 iox+q!
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.o\ep\n&r\% e ithe — the. Ffactorisation method,

Neaetive hange deduelothe Crcumstancd
ANdR . Ll the Valuhe of the =2xpresSsion
'S Ze o ]
- -Soln ) ,
S = —QA +26°+ 2C = 2aC -2k~ 2bc]
.» -l[cx +55- 2000) 460+ C-2150) 1O - 260)

= 1[0 1@+ <]
SINCR. ol the tecrmsS involvld o SZUores
1hQl XprRSSiIoN Coan NEeVR( b o r\uhod.{vL-
T expression 1S Zera when o=b=C -

— E XS C bl

@ Find 1 mMinimara OF FA %I Vool e
OFf LAC K 0of tha Foloing expressions and
A\ Rtk £aSe Statl _+he Valnwe 0f X forc

WY\ 1t 0CcCweSsS. s

M x*+t4x.~8 | D 4 -2x*+323x
D 4 +e6x 53@ WD 22¢* 41X -6
W lax-2x*+71. : VO T-3x*-

Vi) 2>+ 7x 116 (Vi) 4 -5 + 2,

S0LVvING Wmm_

QU\Q\dr‘o\tff_ e g motioNns Coun be_ solved b

Mthod of COMP\Q’t‘(\S Sguar es, the imo\dr‘c\-t.(._
fFormulox. o %&"0\??\\&0\\ MQ:thcd

@ foctocisation metkhod - - -

~dnis enetined 1S aeelied 1o guos dootiC eguativay
RhoSe. guodrhtil  @XPresSsSions Can be foctarised
COV\QLQ;LQ,L§-, s g '
®50 Wwé. the Fol\.omin& ivu\o\df‘aiff- Cguat.ions -
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(D o™ +23x-820 ° () 2™ 72 -4 =0
| _Soln.
M x*+2x-820 -8

by

-
X t4X~2x -8 =0
X CX+4) 2 (x+y) =0
(o -2)Cxx+4) =0

»”

e vtk X -2 0 T x =2
i O Xy r x. z2-4
_W 347 ~6 0 *l/@

) q =2

3 t9x-2x -6 = O >
(X)) ~2(xt2) =0
@ -2)(ox+2) =0 -
J. o eithe s o+ =0 2 _O2X =3
o 22C -2 =0 {:2@

‘J" 1%'—4“ — A
i

(b> COMP\Q*L\‘(\S SquoceS )
TS MR thod con be wsed 4o Solve
0\(\\5 _cLU\o\d rtiC eyuottion - .

i

{ _EXomple s - s e T e T D
M Solve. the eguot.on xF+5x+6=0
: —20ln e T o T
X* 48 +6 =0

x*45x = -6

= rsaigf=-er (g)

S~
. 5

———
e i e

2 L

5 =3
‘ Dc,+é__.
|
{
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Modi(Vcadion of the methaod of CDMP!Q{W\B[I
f

S 3}&0\;— RS ) ) -
Usgsina this pet hod | aun g bodradic e guation

Coon be sSolved bs O\?PL‘B(’\LB‘LL‘\L €9 u.o+tion)

B x = “‘b+~[b: 4ol

T €xpression b —4ac S coalled thi~&_

d'SCeiminant 0¢ the ,?_Lk.o.\i(":\.‘t;C. eguwation - e
if B -4ac >0, the guodratic Qguotion
LR hovd tuao distincet reol oot S -

5
—1f b'- 4o =0, the guodrodit €guoation IS &

Prcfect- Sguoare. and SO hads two Sgual Cooty:
L b - —4aC .0, thhe. guodratic . Q.?_U\Oct\on Ll
ho v, Complex: coots -
Becivoation o the gmo\dr‘odnc_ Fo:-r—w\lou'
Q\JC. +hbxx + C = O - T -
& X+ bx +& =0
[=N [=

i

EK%I"\Q& . o

O Solve the eguoatioa  x* - - 6.50 .
S0

A=l , b=~ ond C= =6
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X = ~h+ Xb’“—uo\cr l?

2 ON

= | ixu(me)

2

|i~‘815 ' ¥
-

I

]

12 S
oy

e K ® T e AP m ~d

@ Solve. the FO\\ON\AB Q_U\o\d.ro:tic !
Sguvations - o

(Y 2x*-3x-7-0

(b) X" 43%-2=0

© 3> +iox = X429

D _ 4+ X = |
X~y .:x,+|" )
, : | *
ROOTS ©F A QuAdRATIC. EQUATION |
Suppose. x and B oare. the rOots |
OF the. <jquo-tion ax? tbxtc =0 L thRn ‘
X =K ond X =L ‘
= X-X_ =0 oond X-A=o. ‘
I+ fFo\BLIS thoat (X-OQC'JC.,-B):Q 1 L
CDC"Q *~nd (-8) oare tre focctors _ ~
OF the eguoetion X 4bx+c =0 - %
Ne: ‘ |
On Q&po\nclms(oc-x)Cx_ 8 we Obtaun :
‘(K‘Pb)1+0&f5‘° ~
(X4 R) s the Soum Of 4R rQots - |
AP s the praduct of the roots - <
D The C)_u\o\drC\-tk_ C9uetion s n ke

FO“"’\ gc_ -(Bum of FOOtS) X + Product of roots=0
L7 —EKELX KR =0 1S the e ral
R quoition of & Juadratic 2guation |
WhoSe_ ©C0tsS aare K and LB

W

g ‘ A
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S‘tD\r\dO\F’d{S\r\u 2 guodeotiC 29u0ti0n -
y -

The FrNdrotic eguadion oax+tbx +c =0

'S Said  to be in Stovndard _form g N, the

Coegficirnt of x* ;5 14 -
" s |H&.5‘t°\r\do\rd Form og m:ﬁ."a} b2>xX. +C =G
St b ac - o -
x =~
P AL b olnd AP = Yo -

EXO\N‘\QLQ&; :

D Stote the product oond Suen Of the roots |
OfF th eguetion 3x* +qae +7=0¢ . |
B Soln _
33X taxt7 =0

%
'O +,3,:>c_.t% e |
v L Suim DL TOQAS = 3 . |
Pcoduct 0f rootsS S Zg
@ be.du\ce_ e &1@»%%1 FTOOtS o ;
3 oond -2 . B 1'
| y !
. » S, éQLQ A

Surm 0 ro0ts = 3 %l-2) =

Product o¢ roots = 3 x (-2) = -¢ |

L4

x> - _ ~ .
A X =6=90 S +the Tog wed fguotion -

@ \F_ AL O\ncL.ﬁ AL e  CSO01S of. tia eyuation |
Bxligx -5 o O, fVollnweate
@0 ~

- 0 b)) x> 2 - % =
£ O Kt p” DK -

)\l-

@ g (g;) Qg 3:&3 o

@ 3x*t4x.-58-0

W e i - aimn -

D X* 4y g -
3;:& _%:?Qm. N

&R =4 Ay AR = I
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@& -p* = @+ £) (X ,-é),
= K+ 8) \ (k) axp

'( e

= -89

C1

. s

| = -3-%74¢4

e ———

@ K >+p° = (oH/Sf*soxp(o&ﬂb)
/. 3
(8- 6)09)

= -84 - 60
27 9

S =244
25

= -9-037

©& &*-£° = k-AlR*tx6+pY)
=@ -p)x+p)-24p +&p)
NGO CETORT vy N
= (et ameg | ((x+8)= x ]
(44 T3P~ 27

=(.32288
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@TP\L FOOtS 0f 1he eguation 22X -7 +4=0

are A and 2 Find 1he e.zu\m_-tfof\ LIRS

rootsS A< ag,ﬂ oond Py

.50!0]
X

> X+ =

Lo 4+ 2 =0
2
%

and AG =2
(24 the roOotS 0f the N eguation be K ond £
o K'1p = A+ A
- B X
:*% - K—l+ﬂ1
XA

-

7. S

_ &x'p —%)&) i ]

. '

@'fl’\& C00tS 9fF the eguostion c*-Px+8=0
oo K oand A +2: Find the posSible Velues
of A oand P

Y ).

l Lt >

. xT-pxt 8 =0
&

Sup 0f CQOtS = 4

» axtaz= P ---——O

Product of fCots = .8

o X (A+2) =8
. Aczsg'?‘ +2A =8~ = ::f@ S .

o C from @, K& 2 T4 O K F A e
¢ When % =2, P =@x2)+ 236 . . -
Whean & ="4, PzGx-a)t2A = -6

@T\r\.@ T Oo0tS 04 the eguatidn owxTtbx +C2 0

2 __ 2,
diff s .bs.s“f . _Prove thoct b —4oc = (6o

£ _Soln
— m
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o ¢ LR FO0otS be K and s
® K+H=h  and XA =S |
|
Bk\t vk“/’) = /J

- (x-p)" = 16

(Xt -4xp = 16
e b L 5 oy
CR) -#(x) = |
_bf' - 4C = 16
o o~
, 2 . >N
.. b -4o0c = 16

@T\\L T0o0otsS o¢ the& Qzu\cx'titv\
~* 4 2pPx +2 =0 digfe~ bsg' Sha o
thot PT-l6=2"
So\lnm
let the roots be X oand B
»> X+p = 2P and A = L -
Gut A-pL = 8
~ (K=PY" = 64
K+P) - gxp = é4
Yo -9 = 64
Pr~92 =16
J.pr-16=92

@PFOVL thot ¢ the sum of 1tk
reciprocals 0f thea 00tS Of th €9 uadbs

ox2+bxtC=20 IS 4 then b+4C z0- if

Foan

i addilidA one root of the e_%u\o\-t.hf\
1S tLRICR 1 Othar, find one Set of
VoolueS 0f oo b ond C
Soln
le 4 4~ r00tS be X oand f3
o X4p = "E and KB K
Rut L + = |
ol

A
£

Scanned by CamScanner




- b -
C/on
-
2= - o
i h+c. G
\n nddition, =28
. =0 ﬁ‘flé . ; i
) 2 p” -
- Y- -~
h P =% ond XD .

KL =343 =9,
>~

— ok,@, M;r" 3 (’{,_ S
= 1L “.«»,B;L_‘t_ﬁ =0 15 4R _gi.)o\drcx.-éfL,

eguoadioos e e i 5B

> . - . o = 2 h;-‘i enad C. =

@ 1€t &?_U\,O\.{IOK\ o> Jc. + 6ab2X 1T AC+ 8b =0
horS 29 ol roots, proVe ‘tho-t. o ()= 4gx]

olse hols C_ZU\Q\L et ¢

ledt 4bla r00f o ONxX™} pacx + act b =0 ba X
- DS of £002S = 2K = = éa-’a\ MY € »
o product Of roots = R’E.2 O\C';isg“— - — @
__Fraora Q ~,ch:'f_C_So_J:.f , N
_Substitute. goc. A in ®
"5 : W ﬂh R B e S s
o — oX
bozoe- .. =
SubStituti for bS in acl(xtD aup'x
B - € il @ < F ) RSN W S
£ SO o 3- 1~ 2 S E L N
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o - 211 =0
a
Z . C)Q“ l) =0 !
Sinc & (x-a)l 1S o perfect Sguarc |
thcr 1S OQ\EO(\Q POSSible Vo lu 2
0fF X nhence “acCx4)" =z gt x alse
hod eguol T0otd -

|
C\ivm At X and B oare {hal |

|

FO0ts. Of the <guation X+5X 6= o

formm o.nro Qtlu\ou.tn‘om WhoSe ~ootS oure

|
- eend b
!

Soln
x> +8x 46 =0

» A+ P -5 and KA =6

tet X' oond R bo 4the roots of thx |
Ne v eguetion -

> '+ ﬁ' = L+ _1
- 3 -
=(-p)+0-x)
(-)(1- @)
= 2-(x+p)
S TOR Y
= 2 -(0s) = A
|  1-65)6 %
KIBI ~ ._L .L
'-o\)(‘-»@)
< *—’&_ »
- QAR T X2
) ,,' e e
(VS
P
-7 -
® XL Tz\l_fﬁ"i =
CelaxXT-7x 410 s the regwired |
Sunation - %
B ’to:com
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@'T\'\e. raelS of th CLU\O\dro\‘th. g wation
X -2 +229 ors X and £ - Sihwis that one
OF 1 eguations whesSe roetsS ar X oand £
(S :LL-rq =0

o _Soln
. Y~ -2ax +2 =0 ) -

Prodwed of fedds AKX YR = 2
Ixg = 2
> AL =4 -

S 0f Foots, x+12 = 2

(i +R)" = 4 .
A +2mpt o= 4
- X A4 tRp4
- - 32~ 3 - W = " i s, e
Lo ox 244 -0

S SNEEI-- A =540 - Je o3 <A | SR PO —
@ EXprods 41he .,;,o.\\o,hgxr.\x W termsS. of XHR and
P . . e
@ 4+p? . w &M =pt

@ Prove 4thet 16 . the differlnCe betwieln the. |
CootS of tha eguation oax +tbx+c =0 15 1 theq
O\l = bl -4goC o N N —

@ One. ~oat o ¢ . 1he. . eguotion aaxctibx+c =0

15 the Sguace or-the othec . Skhow. thot )
2 3

m b3 zacab-<~N) . m.Clo=-b) =o(c-b)

o . —_— MR A - - s

@ Peove 4ot e the. Sur _of the s%u..w’&s ofF

th& ~Qots of the eguotita ox2+4+px+c =0 s 4

then b z20c40> 0 e

@ Tre roots of5-the -9 ot N xt- Pxt 1L =0
are X oand A Form oo imo\d,r-,,c\:th egu o tio ™
Lhose rootS are X+ and B40D
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@TKQ. rootS of the @t‘imm{?o:\ ,‘
:r,l-.|2x_+)\=6 ar X and 1B © Shot
thoet oneL of tiha g uations koS
FootS Are R ond @& 7S X -8 +4 =0 -

@Gi\&r\ that the rcots o 4~
eguation XT-2X 41020 are X and £
dedrrmin® thi 29uation LIhoSL FO0ES

oL —‘L‘z. and _I
(2 +x) @+p*

Or\.e_ ToOt of 4We e[_u\-o\an\tfc g uodion
2 -

AXTtTbX+C 2Q .18 three 4imes +the

Cthe ¢ * Showr tho-t 3b1-'l60\(‘. =0 !

@Prova that if the difgfFecrence
betwween 41 e roots 0§ the <9 uadion
AX tbx+C 20 1S &, 4en o> = b - 4ac
36
\(~ the rootsS of 1hi _Iuoeton
XT+PX 4220 ore K and £, find the

29 Lhation  LWNOS rootsS are i and 2 - |-

[}

@GNQ_/\ thoat th2 rocots of + = .
Qguodtion XTHPX 1L S0 arl K and g,
express K-p2)(R-%x*) 1n terms oc P
and L hence dedwce thad for 6AR |
Co04 10 b tho Sguar’ of the ot hR s,
P>-2P7 +92 =0 rmuSt rald -

@ Thia c00tS 06 the guodrotiT e9uaton
N

X +PX 4L =0 or Nand R Sho iy thod

tho e guotion LahoSL roots are x*- g

and R QA 7S X-(PMPeL-293x 4 L(atPt) =o- [

@ Find the ,Q9uoton whosSe roots ooce | . m
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th SDFLU\Q\VT‘LL) ¢ th roots o¢

2 the eguoadtion
IXT +.8%X. <1 =0 -

@ 1§ the. rooisS of the eguontion X~ bx 4+C =G
N YR and YE-/ Skhww thodt

“)~Q&‘fﬁ - blt_lQ ]
W &gt s @ne - FE)( - 204 )

iy

@ Find e Valul s of ™U for . Wkl the -
€9 uation X4 (M4X F 4rm=C hod Q7uel roots:
For What Values of rmMm 1S th SLvm of thee m00tS
egual do Zeeo o azo o

@ The roots Of L ‘e.q’u\cd.(’on 2 asC 46b =0
ore K and B fiad the conditioa for one oot

to b N :
(D) 4a3Ce. the Othe o . UDdhe cubi. of the othlr
C Bl b =o2) - i Co.\qr 648(5«4\.13'-:5(4&‘#‘1)5;0)

@ Given 4hot the 0ots of the guoadcatrc

e quontion 3"_.- + Tfl-i ,._l: =0 oar . x oand R+ Foce

on guandratic guation. NRheSL =Q01S T R

(&‘ﬁ»)l and adPips
X 62X 4765 = o)

@C‘VLr\ 1ot K.ond B o\re,.-ty\.v_‘rcxd-is of
o g uatida xttex +9=9Q, . -

() Show thot (& +D)(R ) = (3 - l) +. e‘
() Find o guadratic eguation NP\OSL-{;C:O%S o

'OT(_ mﬂé _%_ e o ———

K1+
C((‘L 1)191),1,_ + p(n_-t;ibc.-f g =0 -
G\\vsz,r\ 4thot the roots 0f the eg ot v
1’— 4Pt 930 ore K and A deduce. th<

Condition §0r. ONn& rood 40 be ,Ly\ree_ 4SS
the O4her henCl Show thot pr = 16:2

@ Prove tihat th& rootS of the eguoadiom




{ 3

KT3I X T 46-2x)5c tA=1 20 ore oo (e
ANnd onlw 1§ A 75 not greatar then -
Find 1t Valul 0f K i 0AL OOt 19 S.x

times 1 Othe r -

@ Sieis that ¢ Xt bxtCzo o nd
XT3 PX T2 =0 hovid o CoOmMMOon oot
than (€-2)" = (b-p)(cp-b2) /
@ € tha r0otsS 05 tha eguotion X+ bxxtc=C I
STL A and £ and 4 roots o 4 a ;
Lguadion Il‘f’xbx +arc =0 cce T ond S,
Sheo ik thot the ceguetion whose F00tS f
TATL KB+ RS aad XS+RY TS 9\§VL:'\ bs !T
X T AP + 227 (F-20) = O ]
@ &ivin thoat X and B o rootS of
1t g uotion ax>tbx 4+ =0, dedRcming
T SV dion L_Ahose roots o ce X+ B

and x3+;33> hance o othe ~i315Q_
Soive X+pL =2 (\r\dr &3453:16 S itul-
‘tC\l\.LQ\.\S\.\S 7
@ ¢ A and ﬂ N N TO0LS O0f the _J-V,
Qiu\m‘i\'o.—\ . PX. T2 =0, fFind t N ; -
Eiu.&*tfbm —=hQOS. oots ar e o(3~,l o\_r\_:l
/55" i o K
y &
- B

@ Given 1k eguation Mlag?‘+l&mi+n**1:o_~.

WRhRRCL N nd MU ace constantS, Show thzv )

tha eguatina has no reol coots for acnu :

Valluw 0F U and N e X ‘)

G\\.‘L{\ that the Common ~0ot of 1t a
A 2 - ‘o.com

CIUNLBNG X '-5X 42k 20 ond X5 ~p -0 | ‘o.com

1S N KRR KFOr Find_ R and o_. -

(k=3 , a=73
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() _SYMMETRIcAL EQUATIONS *

-1 - - - . ~ N » - ‘LC |

These aare €guations RhOSKL Coficnts
e b’\émw\l:tc-ic_c\\ R Coe fficientS. o TR
the Soum LaheAa resd from ithe s SidR0f

. 2 -
the eguation &o ax’+bex®+Ccx*+bxtC =0
Whe re o ,b aad & af canstants:
EXxopaples
- i z‘f J and JCL‘+|

@ ¢ (’*.-:7(‘.+3'_C ;X PrRSS L {"Eé & = n o hy

N R rmms of £

e e = S +L 2
- )(.L + ‘I’z" = Pl-,_-l_.-: s ,
< , :
ee———
g Ty -
~ |
P _~(x~_+%) e
e s
cFXE Lt (G hrax(s)
. _3 s IS R &5
) b x.;iés;i;'z(xi_u} Bt
=+l o+ 3f
e
e Bt gl g e 2
. o T .i.z = P(pP*-2) BN

LS U
= x4 ;Lc,"‘ g;?;qx,ﬁi)_ﬁ %.:r_"& )}"f 41@3)3

——— ,q B [
B T x4l 4 oyfer, L ) .
>3 (.:c + = + 6 S
e e b, T 4(f-2) &
oo XM 2 PPt ra T i
< 4 .




@ Use the SwbkStitution 3 = 2 f';

{o Solv the @._(LUJ\‘LOF\ 25 - axr 1gxT -9 220 |

3oln
BDivide an bkrou@.\ b-:s =
2x* + 2 -9x -4 +14=0
xl
2(.1’;5151) - "1(3(,4-L)+nq =0
[bb\i DC.- + L ‘_- la -2
- 2(y*-2) 9wt M=o
B = °"$=5/1
WKka A 55:,1, 2=x,+.li N> PN |

-

i

Wi " 2535-91)2:-1*_;2) X2 6r X=X
N E TN

EXe ccise.
® sotve the “eguation ;.
(*- 20)%4 24 = nloc*ax)
{x:ix=z-2-13 43
@ Use the. SubstitutdA \\«S: DC_"’.__:.L {o
Solve the Qyuatwnns below:
" Sx*-16x3-4gax*_16xt5=0
(0 4o+ 1723 +8%* + 17 +4 =0
M ot z3x3+2x2 43 +1=0

(w. 2, Yo 4 g x> U +1 =0

@ US\Y\Q% The SUubStituodion Yy=X+4

i)
Solva

~Ne . Q‘L\L,e\% oN ?gver\ b\g
L'
Xt <P ozt - R - E——

So Lv;‘L ‘tl«\Q\_ Q_C]_\)\_O\{xem 3
AX, - l(,xJ + 775> - lsox,+6:s S

@ PrOVL th&k‘t '€ &-’{\ = x.‘f t~2 N

G 1) = / heACe Solve. the @ st ior
X (oc-1)*

(xr-x+1)* - qz.(::c 1)2‘ e}
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e ti~ad -
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Of Lo
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Of interSection of the QAFenS dooasn -
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oLnd orraanoesd ‘lr\',_o.\;:3.7\_;5 ALV X foreA- ]
Thhee Motrixn .,\'5-'0—9650‘\:&{& Suwpo N wti Ll hen
o< tr ?mgSLQ‘ (Y -.;eﬁoefﬁ S formad be low-the
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Voo rionbleS canc e theon ophtoingd -

-
i e A -

N‘\\

-

Moteix eopdibods = =T .. -
Aa ‘Lh\,:s_;r;'xe:-b b&.Ar.Qo ccR S0 r\dkx.s,.Cow(u‘ms
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U\53(\C\ SubStitution sesithed
3&.,%‘2&; e (O . .- - , ‘(::
41-:-5.,210.":-:*'“ . )

£ o™ a = 4x. - 1Q
SubStitwite fec ‘\S'\C\ Y]

3 2 GH4H-10) T R
oo = RR

i S _,-.¢:2<;,_‘=m2.5-_ e B = o \

> ,ﬁ,tx’ ik LLC;%D‘,,._—‘,_LO T B kit . }‘
. I T RS ond SR ~ . e

USiA& Coumne & S ke . E .
- ;72& ’t' 23 -._::a...&, T e S R
HoCL = :_5 *ﬂ:,l&') o - .

R
7
o 4
e
0

fiie

}J

i ]

l

B Iml . -~ SoE 0
L. D = 2 aad M = =2
(b) Usineg . Stbstjiution metkhod: .=

: ’Zx“} %5 = QZ. = | - == - = -
Ax- N -2z 24 ---=®

! 41-75~615—2_—,: £, oe = (W)
- From @, . W= 3xX -22-4
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SUbStitute o~ \Q Q)

2x t 3(3x-22-4)~ 4z -,

22X+ 9 - 62Z 2L - H3Z = |

Hx - 102 = 13
: 22%(::1-@)
SubStitute Fac—- 2 and & A )
4 - 7(20c + (X -13)- g -3 (nx-i3) = -7
e SR S a = l\s‘r\d z =2

SN, S35 W=l and 2= 2

UslrL% Crasmer"S Tulle
200 +35 -9z =
3 =W\ =22 =y

—_— 91—7«$-62_:‘_~7 e -
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1) ) - )
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i ) P O = AHs ~ ! .
3-6‘.9444 B2 .
U.ﬁdd ] M & 1‘ :l “_‘L) \ - ﬂ
— 8 Mace(: o4 2
* 4 -1 g
s 3 g
. 32 = q,‘Qb 4 -7 - .
= 82 - - _
= 5 = 88X =2 _
g2 -
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